

Something New in Diophantine Equations

Eva Goedhart

Bryn Mawr College

History

Diophantus:

History

Diophantus: $1 + a_i a_j = \square$,

History

Diophantus: $1 + a_i a_j = \square$, $\left\{ \frac{1}{16}, \frac{33}{16}, \frac{17}{4}, \frac{105}{16} \right\}$

History

Diophantus: $1 + a_i a_j = \square$, $\left\{ \frac{1}{16}, \frac{33}{16}, \frac{17}{4}, \frac{105}{16} \right\}$

Fermat:

History

Diophantus: $1 + a_i a_j = \square$, $\left\{ \frac{1}{16}, \frac{33}{16}, \frac{17}{4}, \frac{105}{16} \right\}$

Fermat: same property,

History

Diophantus: $1 + a_i a_j = \square$, $\left\{ \frac{1}{16}, \frac{33}{16}, \frac{17}{4}, \frac{105}{16} \right\}$

Fermat: same property, $\{1, 3, 8, 120\}$

History

Diophantus: $1 + a_i a_j = \square$, $\left\{ \frac{1}{16}, \frac{33}{16}, \frac{17}{4}, \frac{105}{16} \right\}$

Fermat: same property, $\{1, 3, 8, 120\}$

Bugeaud:

History

Diophantus: $1 + a_i a_j = \square$, $\left\{ \frac{1}{16}, \frac{33}{16}, \frac{17}{4}, \frac{105}{16} \right\}$

Fermat: same property, $\{1, 3, 8, 120\}$

Bugeaud: $1 + a_i a_j = k$ -th power,

History

Diophantus: $1 + a_i a_j = \square$, $\left\{ \frac{1}{16}, \frac{33}{16}, \frac{17}{4}, \frac{105}{16} \right\}$

Fermat: same property, $\{1, 3, 8, 120\}$

Bugeaud: $1 + a_i a_j = k$ -th power, $\{1, A, B\}$

History

Diophantus: $1 + a_i a_j = \square$, $\left\{ \frac{1}{16}, \frac{33}{16}, \frac{17}{4}, \frac{105}{16} \right\}$

Fermat: same property, $\{1, 3, 8, 120\}$

Bugeaud: $1 + a_i a_j = k$ -th power, $\{1, A, B\}$ with $1 < A < B$ in \mathbb{Z} .

History

Diophantus: $1 + a_i a_j = \square$, $\left\{ \frac{1}{16}, \frac{33}{16}, \frac{17}{4}, \frac{105}{16} \right\}$

Fermat: same property, $\{1, 3, 8, 120\}$

Bugeaud: $1 + a_i a_j = k$ -th power, $\{1, A, B\}$ with $1 < A < B$ in \mathbb{Z} .

$$\begin{array}{l} 1 + A = x^k \\ 1 + B = y^k \\ 1 + AB = z^k \end{array} \implies \begin{array}{l} A = x^k - 1 \\ B = y^k - 1 \\ AB = z^k - 1 \end{array}$$

History

Diophantus: $1 + a_i a_j = \square$, $\left\{ \frac{1}{16}, \frac{33}{16}, \frac{17}{4}, \frac{105}{16} \right\}$

Fermat: same property, $\{1, 3, 8, 120\}$

Bugeaud: $1 + a_i a_j = k$ -th power, $\{1, A, B\}$ with $1 < A < B$ in \mathbb{Z} .

$$\begin{aligned} 1 + A = x^k & & A = x^k - 1 \\ 1 + B = y^k & \implies & B = y^k - 1 \\ 1 + AB = z^k & & AB = z^k - 1 \end{aligned}$$

Bugeaud (2004):

History

Diophantus: $1 + a_i a_j = \square$, $\left\{ \frac{1}{16}, \frac{33}{16}, \frac{17}{4}, \frac{105}{16} \right\}$

Fermat: same property, $\{1, 3, 8, 120\}$

Bugeaud: $1 + a_i a_j = k$ -th power, $\{1, A, B\}$ with $1 < A < B$ in \mathbb{Z} .

$$\begin{aligned} 1 + A &= x^k & A &= x^k - 1 \\ 1 + B &= y^k \implies & B &= y^k - 1 \\ 1 + AB &= z^k & AB &= z^k - 1 \end{aligned}$$

Bugeaud (2004): $(x^k - 1)(y^k - 1) = (z^k - 1)$

History

Diophantus: $1 + a_i a_j = \square$, $\left\{ \frac{1}{16}, \frac{33}{16}, \frac{17}{4}, \frac{105}{16} \right\}$

Fermat: same property, $\{1, 3, 8, 120\}$

Bugeaud: $1 + a_i a_j = k$ -th power, $\{1, A, B\}$ with $1 < A < B$ in \mathbb{Z} .

$$\begin{aligned} 1 + A &= x^k & A &= x^k - 1 \\ 1 + B &= y^k \implies & B &= y^k - 1 \\ 1 + AB &= z^k & AB &= z^k - 1 \end{aligned}$$

Bugeaud (2004): $(x^k - 1)(y^k - 1) = (z^k - 1)$ has no solutions for $k \geq 75$

History

Diophantus: $1 + a_i a_j = \square$, $\left\{ \frac{1}{16}, \frac{33}{16}, \frac{17}{4}, \frac{105}{16} \right\}$

Fermat: same property, $\{1, 3, 8, 120\}$

Bugeaud: $1 + a_i a_j = k$ -th power, $\{1, A, B\}$ with $1 < A < B$ in \mathbb{Z} .

$$\begin{aligned} 1 + A &= x^k & A &= x^k - 1 \\ 1 + B &= y^k \implies & B &= y^k - 1 \\ 1 + AB &= z^k & AB &= z^k - 1 \end{aligned}$$

Bugeaud (2004): $(x^k - 1)(y^k - 1) = (z^k - 1)$ has no solutions for $k \geq 75$

Bennett (2007):

History

Diophantus: $1 + a_i a_j = \square$, $\left\{ \frac{1}{16}, \frac{33}{16}, \frac{17}{4}, \frac{105}{16} \right\}$

Fermat: same property, $\{1, 3, 8, 120\}$

Bugeaud: $1 + a_i a_j = k$ -th power, $\{1, A, B\}$ with $1 < A < B$ in \mathbb{Z} .

$$\begin{aligned} 1 + A &= x^k & A &= x^k - 1 \\ 1 + B &= y^k \implies & B &= y^k - 1 \\ 1 + AB &= z^k & AB &= z^k - 1 \end{aligned}$$

Bugeaud (2004): $(x^k - 1)(y^k - 1) = (z^k - 1)$ has no solutions for $k \geq 75$

Bennett (2007): same equation

History

Diophantus: $1 + a_i a_j = \square$, $\left\{ \frac{1}{16}, \frac{33}{16}, \frac{17}{4}, \frac{105}{16} \right\}$

Fermat: same property, $\{1, 3, 8, 120\}$

Bugeaud: $1 + a_i a_j = k$ -th power, $\{1, A, B\}$ with $1 < A < B$ in \mathbb{Z} .

$$\begin{aligned} 1 + A = x^k & & A = x^k - 1 \\ 1 + B = y^k & \implies & B = y^k - 1 \\ 1 + AB = z^k & & AB = z^k - 1 \end{aligned}$$

Bugeaud (2004): $(x^k - 1)(y^k - 1) = (z^k - 1)$ has no solutions for $k \geq 75$

Bennett (2007): same equation has no solutions for $k \geq 4$

History

Diophantus: $1 + a_i a_j = \square$, $\left\{ \frac{1}{16}, \frac{33}{16}, \frac{17}{4}, \frac{105}{16} \right\}$

Fermat: same property, $\{1, 3, 8, 120\}$

Bugeaud: $1 + a_i a_j = k$ -th power, $\{1, A, B\}$ with $1 < A < B$ in \mathbb{Z} .

$$\begin{aligned} 1 + A &= x^k & A &= x^k - 1 \\ 1 + B &= y^k \implies & B &= y^k - 1 \\ 1 + AB &= z^k & AB &= z^k - 1 \end{aligned}$$

Bugeaud (2004): $(x^k - 1)(y^k - 1) = (z^k - 1)$ has no solutions for $k \geq 75$

Bennett (2007): same equation has no solutions for $k \geq 4$

$$(x^k - 1)(y^k - 1) = (z^k - 1)^2$$

History

Diophantus: $1 + a_i a_j = \square$, $\left\{ \frac{1}{16}, \frac{33}{16}, \frac{17}{4}, \frac{105}{16} \right\}$

Fermat: same property, $\{1, 3, 8, 120\}$

Bugeaud: $1 + a_i a_j = k$ -th power, $\{1, A, B\}$ with $1 < A < B$ in \mathbb{Z} .

$$\begin{aligned} 1 + A = x^k & & A = x^k - 1 \\ 1 + B = y^k & \implies & B = y^k - 1 \\ 1 + AB = z^k & & AB = z^k - 1 \end{aligned}$$

Bugeaud (2004): $(x^k - 1)(y^k - 1) = (z^k - 1)$ has no solutions for $k \geq 75$

Bennett (2007): same equation has no solutions for $k \geq 4$

$(x^k - 1)(y^k - 1) = (z^k - 1)^2$ has no solutions for $k \geq 4$

History

Diophantus: $1 + a_i a_j = \square$, $\left\{ \frac{1}{16}, \frac{33}{16}, \frac{17}{4}, \frac{105}{16} \right\}$

Fermat: same property, $\{1, 3, 8, 120\}$

Bugeaud: $1 + a_i a_j = k$ -th power, $\{1, A, B\}$ with $1 < A < B$ in \mathbb{Z} .

$$\begin{aligned} 1 + A = x^k & & A = x^k - 1 \\ 1 + B = y^k & \implies & B = y^k - 1 \\ 1 + AB = z^k & & AB = z^k - 1 \end{aligned}$$

Bugeaud (2004): $(x^k - 1)(y^k - 1) = (z^k - 1)$ has no solutions for $k \geq 75$

Bennett (2007): same equation has no solutions for $k \geq 4$

$(x^k - 1)(y^k - 1) = (z^k - 1)^2$ has no solutions for $k \geq 4$

Zhang (2014):

History

Diophantus: $1 + a_i a_j = \square$, $\left\{ \frac{1}{16}, \frac{33}{16}, \frac{17}{4}, \frac{105}{16} \right\}$

Fermat: same property, $\{1, 3, 8, 120\}$

Bugeaud: $1 + a_i a_j = k$ -th power, $\{1, A, B\}$ with $1 < A < B$ in \mathbb{Z} .

$$\begin{aligned} 1 + A = x^k & \quad A = x^k - 1 \\ 1 + B = y^k & \implies B = y^k - 1 \\ 1 + AB = z^k & \quad AB = z^k - 1 \end{aligned}$$

Bugeaud (2004): $(x^k - 1)(y^k - 1) = (z^k - 1)$ has no solutions for $k \geq 75$

Bennett (2007): same equation has no solutions for $k \geq 4$

$(x^k - 1)(y^k - 1) = (z^k - 1)^2$ has no solutions for $k \geq 4$

Zhang (2014): $(ax^k - 1)(by^k - 1) = (abz^k - 1)$

History

Diophantus: $1 + a_i a_j = \square$, $\left\{ \frac{1}{16}, \frac{33}{16}, \frac{17}{4}, \frac{105}{16} \right\}$

Fermat: same property, $\{1, 3, 8, 120\}$

Bugeaud: $1 + a_i a_j = k$ -th power, $\{1, A, B\}$ with $1 < A < B$ in \mathbb{Z} .

$$\begin{aligned} 1 + A = x^k & & A = x^k - 1 \\ 1 + B = y^k & \implies & B = y^k - 1 \\ 1 + AB = z^k & & AB = z^k - 1 \end{aligned}$$

Bugeaud (2004): $(x^k - 1)(y^k - 1) = (z^k - 1)$ has no solutions for $k \geq 75$

Bennett (2007): same equation has no solutions for $k \geq 4$

$(x^k - 1)(y^k - 1) = (z^k - 1)^2$ has no solutions for $k \geq 4$

Zhang (2014): $(ax^k - 1)(by^k - 1) = (abz^k - 1)$ has no solutions, $k \geq 4$

Main Theorem

Main Theorem

Theorem (G-)

Let $a, b, c, k \in \mathbb{Z}^+$ with $k \geq 7$.

Main Theorem

Theorem (G-)

Let $a, b, c, k \in \mathbb{Z}^+$ with $k \geq 7$. The equation

Main Theorem

Theorem (G-)

Let $a, b, c, k \in \mathbb{Z}^+$ with $k \geq 7$. The equation

$$(a^2cx^k - 1)(b^2cy^k - 1) = (abcz^k - 1)^2$$

Main Theorem

Theorem (G-)

Let $a, b, c, k \in \mathbb{Z}^+$ with $k \geq 7$. The equation

$$(a^2cx^k - 1)(b^2cy^k - 1) = (abcz^k - 1)^2$$

has no solution in integers

Main Theorem

Theorem (G-)

Let $a, b, c, k \in \mathbb{Z}^+$ with $k \geq 7$. The equation

$$(a^2cx^k - 1)(b^2cy^k - 1) = (abcz^k - 1)^2$$

has no solution in integers with $x, y, z > 1$

Main Theorem

Theorem (G-)

Let $a, b, c, k \in \mathbb{Z}^+$ with $k \geq 7$. The equation

$$(a^2cx^k - 1)(b^2cy^k - 1) = (abcz^k - 1)^2$$

has no solution in integers with $x, y, z > 1$ and $a^2x^k \neq b^2y^k$.

Key Ideas

Key Ideas

Suppose $k, a, b, c, x, y, z \in \mathbb{Z}^+$

Key Ideas

Suppose $k, a, b, c, x, y, z \in \mathbb{Z}^+$ as in the Theorem

Key Ideas

Suppose $k, a, b, c, x, y, z \in \mathbb{Z}^+$ as in the Theorem s.t.

$$(a^2cx^k - 1)(b^2cy^k - 1) = (abcz^k - 1)^2.$$

Key Ideas

Suppose $k, a, b, c, x, y, z \in \mathbb{Z}^+$ as in the Theorem s.t.

$$(a^2cx^k - 1)(b^2cy^k - 1) = (abcz^k - 1)^2.$$

$$\frac{a^2cx^k}{a^2cx^k - 1}$$

Key Ideas

Suppose $k, a, b, c, x, y, z \in \mathbb{Z}^+$ as in the Theorem s.t.

$$(a^2cx^k - 1)(b^2cy^k - 1) = (abcz^k - 1)^2.$$

$$\frac{a^2cx^k}{a^2cx^k - 1} = \frac{a^2cx^k(b^2cy^k - 1)}{abcz^k - 1}$$

Key Ideas

Suppose $k, a, b, c, x, y, z \in \mathbb{Z}^+$ as in the Theorem s.t.

$$(a^2cx^k - 1)(b^2cy^k - 1) = (abcz^k - 1)^2.$$

$$\frac{a^2cx^k}{a^2cx^k - 1} = \frac{a^2cx^k(b^2cy^k - 1)}{abcz^k - 1} \approx \frac{(a^2cx^k)(b^2cy^k)}{(abcz^k)^2}$$

Key Ideas

Suppose $k, a, b, c, x, y, z \in \mathbb{Z}^+$ as in the Theorem s.t.

$$(a^2cx^k - 1)(b^2cy^k - 1) = (abcz^k - 1)^2.$$

$$\frac{a^2cx^k}{a^2cx^k - 1} = \frac{a^2cx^k(b^2cy^k - 1)}{abcz^k - 1} \approx \frac{(a^2cx^k)(b^2cy^k)}{(abcz^k)^2}$$

$$\implies \sqrt[k]{\frac{a^2cx^k}{a^2cx^k - 1}}$$

Key Ideas

Suppose $k, a, b, c, x, y, z \in \mathbb{Z}^+$ as in the Theorem s.t.

$$(a^2cx^k - 1)(b^2cy^k - 1) = (abcz^k - 1)^2.$$

$$\frac{a^2cx^k}{a^2cx^k - 1} = \frac{a^2cx^k(b^2cy^k - 1)}{abcz^k - 1} \approx \frac{(a^2cx^k)(b^2cy^k)}{(abcz^k)^2}$$

$$\implies \sqrt[k]{\frac{a^2cx^k}{a^2cx^k - 1}} \approx \frac{xy}{z^2}$$

Key Ideas

Suppose $k, a, b, c, x, y, z \in \mathbb{Z}^+$ as in the Theorem s.t.

$$(a^2cx^k - 1)(b^2cy^k - 1) = (abcz^k - 1)^2.$$

$$\frac{a^2cx^k}{a^2cx^k - 1} = \frac{a^2cx^k(b^2cy^k - 1)}{abcz^k - 1} \approx \frac{(a^2cx^k)(b^2cy^k)}{(abcz^k)^2}$$

$$\implies \sqrt[k]{\frac{a^2cx^k}{a^2cx^k - 1}} \approx \frac{xy}{z^2}$$

For large k ,

Key Ideas

Suppose $k, a, b, c, x, y, z \in \mathbb{Z}^+$ as in the Theorem s.t.

$$(a^2cx^k - 1)(b^2cy^k - 1) = (abcz^k - 1)^2.$$

$$\frac{a^2cx^k}{a^2cx^k - 1} = \frac{a^2cx^k(b^2cy^k - 1)}{abcz^k - 1} \approx \frac{(a^2cx^k)(b^2cy^k)}{(abcz^k)^2}$$

$$\implies \sqrt[k]{\frac{a^2cx^k}{a^2cx^k - 1}} \approx \frac{xy}{z^2}$$

For large k , this approximation is “too good”.

Key Ideas

Suppose $k, a, b, c, x, y, z \in \mathbb{Z}^+$ as in the Theorem s.t.

$$(a^2cx^k - 1)(b^2cy^k - 1) = (abcz^k - 1)^2.$$

$$\frac{a^2cx^k}{a^2cx^k - 1} = \frac{a^2cx^k(b^2cy^k - 1)}{abcz^k - 1} \approx \frac{(a^2cx^k)(b^2cy^k)}{(abcz^k)^2}$$

$$\implies \sqrt[k]{\frac{a^2cx^k}{a^2cx^k - 1}} \approx \frac{xy}{z^2}$$

For large k , this approximation is “too good”.

For small k ,

Key Ideas

Suppose $k, a, b, c, x, y, z \in \mathbb{Z}^+$ as in the Theorem s.t.

$$(a^2cx^k - 1)(b^2cy^k - 1) = (abcz^k - 1)^2.$$

$$\frac{a^2cx^k}{a^2cx^k - 1} = \frac{a^2cx^k(b^2cy^k - 1)}{abcz^k - 1} \approx \frac{(a^2cx^k)(b^2cy^k)}{(abcz^k)^2}$$

$$\implies \sqrt[k]{\frac{a^2cx^k}{a^2cx^k - 1}} \approx \frac{xy}{z^2}$$

For large k , this approximation is “too good”.

For small k , use continued fractions

Key Ideas

Suppose $k, a, b, c, x, y, z \in \mathbb{Z}^+$ as in the Theorem s.t.

$$(a^2cx^k - 1)(b^2cy^k - 1) = (abcz^k - 1)^2.$$

$$\frac{a^2cx^k}{a^2cx^k - 1} = \frac{a^2cx^k(b^2cy^k - 1)}{abcz^k - 1} \approx \frac{(a^2cx^k)(b^2cy^k)}{(abcz^k)^2}$$

$$\implies \sqrt[k]{\frac{a^2cx^k}{a^2cx^k - 1}} \approx \frac{xy}{z^2}$$

For large k , this approximation is “too good”.

For small k , use continued fractions $\sqrt[k]{\frac{a^2c}{a^2cx^k - 1}} \approx \frac{y}{z^2}$

Proof of the Main Theorem

Let $k, a, b, c \in \mathbb{Z}^+$ with $k \geq 7$.

Proof of the Main Theorem

Let $k, a, b, c \in \mathbb{Z}^+$ with $k \geq 7$. Suppose that $x, y, z > 1$,

Proof of the Main Theorem

Let $k, a, b, c \in \mathbb{Z}^+$ with $k \geq 7$. Suppose that $x, y, z > 1$, $a^2x^k \neq b^2y^k$,

Proof of the Main Theorem

Let $k, a, b, c \in \mathbb{Z}^+$ with $k \geq 7$. Suppose that $x, y, z > 1$, $a^2x^k \neq b^2y^k$, and

$$\underbrace{(a^2cx^k - 1)}_{uv^2} \underbrace{(b^2cy^k - 1)}_{uw^2} = \underbrace{(abcz^k - 1)^2}_{(uvw)^2}.$$

Proof of the Main Theorem

Let $k, a, b, c \in \mathbb{Z}^+$ with $k \geq 7$. Suppose that $x, y, z > 1$, $a^2x^k \neq b^2y^k$, and

$$\underbrace{(a^2cx^k - 1)}_{uv^2} \underbrace{(b^2cy^k - 1)}_{uw^2} = \underbrace{(abcz^k - 1)^2}_{(uvw)^2}.$$

Wlog $v < w$.

Proof of the Main Theorem

Let $k, a, b, c \in \mathbb{Z}^+$ with $k \geq 7$. Suppose that $x, y, z > 1$, $a^2x^k \neq b^2y^k$, and

$$\underbrace{(a^2cx^k - 1)}_{uv^2} \underbrace{(b^2cy^k - 1)}_{uw^2} = \underbrace{(abcz^k - 1)^2}_{(uvw)^2}.$$

Wlog $v < w$.

$$\begin{aligned}(a^2cx^k)(b^2cy^k) &= (uvw)^2 + u(v^2 + w^2) + 1 \\ &> (uvw)^2 + 2uvw + 1 \\ &= (abcz^k)^2\end{aligned}$$

Proof of the Main Theorem

Let $k, a, b, c \in \mathbb{Z}^+$ with $k \geq 7$. Suppose that $x, y, z > 1$, $a^2x^k \neq b^2y^k$, and

$$\underbrace{(a^2cx^k - 1)}_{uv^2} \underbrace{(b^2cy^k - 1)}_{uw^2} = \underbrace{(abcz^k - 1)^2}_{(uvw)^2}.$$

Wlog $v < w$.

$$\begin{aligned}(a^2cx^k)(b^2cy^k) &= (uvw)^2 + u(v^2 + w^2) + 1 \\ &> (uvw)^2 + 2uvw + 1 \\ &= (abcz^k)^2\end{aligned}$$

$$\implies xy > z^2$$

Proof of the Main Theorem

Let $k, a, b, c \in \mathbb{Z}^+$ with $k \geq 7$. Suppose that $x, y, z > 1$, $a^2x^k \neq b^2y^k$, and

$$\underbrace{(a^2cx^k - 1)}_{uv^2} \underbrace{(b^2cy^k - 1)}_{uw^2} = \underbrace{(abcz^k - 1)^2}_{(uvw)^2}.$$

Wlog $v < w$.

$$\begin{aligned}(a^2cx^k)(b^2cy^k) &= (uvw)^2 + u(v^2 + w^2) + 1 \\ &> (uvw)^2 + 2uvw + 1 \\ &= (abcz^k)^2\end{aligned}$$

$$\implies xy > z^2$$

$$\text{Let } \alpha = \sqrt[k]{1 + \frac{1}{uv^2}}$$

Proof of the Main Theorem

Let $k, a, b, c \in \mathbb{Z}^+$ with $k \geq 7$. Suppose that $x, y, z > 1$, $a^2x^k \neq b^2y^k$, and

$$\underbrace{(a^2cx^k - 1)}_{uv^2} \underbrace{(b^2cy^k - 1)}_{uw^2} = \underbrace{(abcz^k - 1)^2}_{(uvw)^2}.$$

Wlog $v < w$.

$$\begin{aligned}(a^2cx^k)(b^2cy^k) &= (uvw)^2 + u(v^2 + w^2) + 1 \\ &> (uvw)^2 + 2uvw + 1 \\ &= (abcz^k)^2\end{aligned}$$

$$\implies xy > z^2$$

$$\text{Let } \alpha = \sqrt[k]{1 + \frac{1}{uv^2}} \text{ and } \beta = \frac{xy}{z^2}.$$

Theorem (Bennett, 1997)

Let n and N be positive integers

Theorem (Bennett, 1997)

Let n and N are positive integers with $n \geq 3$

Theorem (Bennett, 1997)

Let n and N are positive integers with $n \geq 3$ and $\mu_n = \prod_{\substack{p|n \\ p \text{ prime}}} p^{1/(p-1)}$.

Theorem (Bennett, 1997)

Let n and N be positive integers with $n \geq 3$ and $\mu_n = \prod_{\substack{p|n \\ p \text{ prime}}} p^{1/(p-1)}$.

If $(\sqrt{N} + \sqrt{N+1})^{2(n-2)} > (n\mu_n)^n$,

Theorem (Bennett, 1997)

Let n and N be positive integers with $n \geq 3$ and $\mu_n = \prod_{\substack{p|n \\ p \text{ prime}}} p^{1/(p-1)}$.

If $(\sqrt{N} + \sqrt{N+1})^{2(n-2)} > (n\mu_n)^n$, then for any $p, q \in \mathbb{Z}^+$,

Theorem (Bennett, 1997)

Let n and N be positive integers with $n \geq 3$ and $\mu_n = \prod_{\substack{p|n \\ p \text{ prime}}} p^{1/(p-1)}$.

If $(\sqrt{N} + \sqrt{N+1})^{2(n-2)} > (n\mu_n)^n$, then for any $p, q \in \mathbb{Z}^+$,

$$\left| \sqrt[n]{1 + \frac{1}{N}} - \frac{p}{q} \right| > \frac{1}{8n\mu_n N q^\lambda}$$

Theorem (Bennett, 1997)

Let n and N be positive integers with $n \geq 3$ and $\mu_n = \prod_{\substack{p|n \\ p \text{ prime}}} p^{1/(p-1)}$.

If $(\sqrt{N} + \sqrt{N+1})^{2(n-2)} > (n\mu_n)^n$, then for any $p, q \in \mathbb{Z}^+$,

$$\left| \sqrt[n]{1 + \frac{1}{N}} - \frac{p}{q} \right| > \frac{1}{8n\mu_n N q^\lambda}$$

where $\lambda = 1 + \frac{\log\left(\left(\sqrt{N} + \sqrt{N+1}\right)^2 n\mu_n\right)}{\log\left(\left(\sqrt{N} + \sqrt{N+1}\right)^2 / n\mu_n\right)}$.

Theorem (Bennett, 1997)

Let n and N be positive integers with $n \geq 3$ and $\mu_n = \prod_{\substack{p|n \\ p \text{ prime}}} p^{1/(p-1)}$.

If $(\sqrt{N} + \sqrt{N+1})^{2(n-2)} > (n\mu_n)^n$, then for any $p, q \in \mathbb{Z}^+$,

$$\left| \sqrt[n]{1 + \frac{1}{N}} - \frac{p}{q} \right| > \frac{1}{8n\mu_n N q^\lambda}$$

where $\lambda = 1 + \frac{\log\left(\left(\sqrt{N} + \sqrt{N+1}\right)^2 n\mu_n\right)}{\log\left(\left(\sqrt{N} + \sqrt{N+1}\right)^2 / n\mu_n\right)}$.

For $n = k$, $N = uv^2$,

Theorem (Bennett, 1997)

Let n and N be positive integers with $n \geq 3$ and $\mu_n = \prod_{\substack{p|n \\ p \text{ prime}}} p^{1/(p-1)}$.

If $(\sqrt{N} + \sqrt{N+1})^{2(n-2)} > (n\mu_n)^n$, then for any $p, q \in \mathbb{Z}^+$,

$$\left| \sqrt[n]{1 + \frac{1}{N}} - \frac{p}{q} \right| > \frac{1}{8n\mu_n N q^\lambda}$$

where $\lambda = 1 + \frac{\log\left(\left(\sqrt{N} + \sqrt{N+1}\right)^2 n\mu_n\right)}{\log\left(\left(\sqrt{N} + \sqrt{N+1}\right)^2 / n\mu_n\right)}$.

For $n = k$, $N = uv^2$, apply Bennett to $\alpha = \sqrt[k]{1 + \frac{1}{uv^2}}$

Theorem (Bennett, 1997)

Let n and N be positive integers with $n \geq 3$ and $\mu_n = \prod_{\substack{p|n \\ p \text{ prime}}} p^{1/(p-1)}$.

If $(\sqrt{N} + \sqrt{N+1})^{2(n-2)} > (n\mu_n)^n$, then for any $p, q \in \mathbb{Z}^+$,

$$\left| \sqrt[n]{1 + \frac{1}{N}} - \frac{p}{q} \right| > \frac{1}{8n\mu_n N q^\lambda}$$

where $\lambda = 1 + \frac{\log\left(\left(\sqrt{N} + \sqrt{N+1}\right)^2 n\mu_n\right)}{\log\left(\left(\sqrt{N} + \sqrt{N+1}\right)^2 / n\mu_n\right)}$.

For $n = k$, $N = uv^2$, apply Bennett to $\alpha = \sqrt[k]{1 + \frac{1}{uv^2}}$ and $\beta = \frac{xy}{z^2}$.

$$|\alpha - \beta| > \frac{1}{8k\mu_k uv^2 z^{2\lambda}}$$

$$|\alpha - \beta| > \frac{1}{8k\mu_k uv^2 z^{2\lambda}} \text{ where}$$

$$\begin{aligned} \lambda &= 1 + \frac{\log \left(\left(\sqrt{uv^2} + \sqrt{uv^2 + 1} \right)^2 k\mu_k \right)}{\log \left(\left(\sqrt{uv^2} + \sqrt{uv^2 + 1} \right)^2 / k\mu_k \right)} \\ &= 2 + \frac{2 \log(k\mu_k)}{2 \log \left(\sqrt{uv^2} + \sqrt{uv^2 + 1} \right) - \log(k\mu_k)} \end{aligned}$$

$$|\alpha - \beta| > \frac{1}{8k\mu_k uv^2 z^{2\lambda}} \text{ where}$$

$$\begin{aligned}\lambda &= 1 + \frac{\log\left(\left(\sqrt{uv^2} + \sqrt{uv^2 + 1}\right)^2 k\mu_k\right)}{\log\left(\left(\sqrt{uv^2} + \sqrt{uv^2 + 1}\right)^2 / k\mu_k\right)} \\ &= 2 + \frac{2\log(k\mu_k)}{2\log\left(\sqrt{uv^2} + \sqrt{uv^2 + 1}\right) - \log(k\mu_k)}\end{aligned}$$

Define $\Lambda_K(D)$

$$|\alpha - \beta| > \frac{1}{8k\mu_k uv^2 z^{2\lambda}} \text{ where}$$

$$\begin{aligned}\lambda &= 1 + \frac{\log\left(\left(\sqrt{uv^2} + \sqrt{uv^2 + 1}\right)^2 k\mu_k\right)}{\log\left(\left(\sqrt{uv^2} + \sqrt{uv^2 + 1}\right)^2 / k\mu_k\right)} \\ &= 2 + \frac{2\log(k\mu_k)}{2\log\left(\sqrt{uv^2} + \sqrt{uv^2 + 1}\right) - \log(k\mu_k)}\end{aligned}$$

$$\text{Define } \Lambda_K(D) = 2 + \frac{2\log(K\mu_K)}{2\log\left(\sqrt{D-1} + \sqrt{D}\right) - \log(K\mu_K)} \text{ and}$$

$$|\alpha - \beta| > \frac{1}{8k\mu_k uv^2 z^{2\lambda}} \text{ where}$$

$$\begin{aligned} \lambda &= 1 + \frac{\log \left(\left(\sqrt{uv^2} + \sqrt{uv^2 + 1} \right)^2 k\mu_k \right)}{\log \left(\left(\sqrt{uv^2} + \sqrt{uv^2 + 1} \right)^2 / k\mu_k \right)} \\ &= 2 + \frac{2 \log(k\mu_k)}{2 \log \left(\sqrt{uv^2} + \sqrt{uv^2 + 1} \right) - \log(k\mu_k)} \end{aligned}$$

Define $\Lambda_K(D) = 2 + \frac{2 \log(K\mu_K)}{2 \log \left(\sqrt{D-1} + \sqrt{D} \right) - \log(K\mu_K)}$ and

$$\Lambda(K)$$

$$|\alpha - \beta| > \frac{1}{8k\mu_k uv^2 z^{2\lambda}} \text{ where}$$

$$\begin{aligned}\lambda &= 1 + \frac{\log\left(\left(\sqrt{uv^2} + \sqrt{uv^2 + 1}\right)^2 k\mu_k\right)}{\log\left(\left(\sqrt{uv^2} + \sqrt{uv^2 + 1}\right)^2 / k\mu_k\right)} \\ &= 2 + \frac{2\log(k\mu_k)}{2\log\left(\sqrt{uv^2} + \sqrt{uv^2 + 1}\right) - \log(k\mu_k)}\end{aligned}$$

Define $\Lambda_K(D) = 2 + \frac{2\log(K\mu_K)}{2\log\left(\sqrt{D-1} + \sqrt{D}\right) - \log(K\mu_K)}$ and

$$\Lambda(K) = 2 + \frac{6\log(K)}{2(K+1)\log(2) - 3\log(K)}.$$

$$|\alpha - \beta| > \frac{1}{8k\mu_k uv^2 z^{2\lambda}} \text{ where}$$

$$\begin{aligned}\lambda &= 1 + \frac{\log\left(\left(\sqrt{uv^2} + \sqrt{uv^2 + 1}\right)^2 k\mu_k\right)}{\log\left(\left(\sqrt{uv^2} + \sqrt{uv^2 + 1}\right)^2 / k\mu_k\right)} \\ &= 2 + \frac{2\log(k\mu_k)}{2\log\left(\sqrt{uv^2} + \sqrt{uv^2 + 1}\right) - \log(k\mu_k)}\end{aligned}$$

Define $\Lambda_K(D) = 2 + \frac{2\log(K\mu_K)}{2\log\left(\sqrt{D-1} + \sqrt{D}\right) - \log(K\mu_K)}$ and

$$\Lambda(K) = 2 + \frac{6\log(K)}{2(K+1)\log(2) - 3\log(K)}.$$

Then λ

$$|\alpha - \beta| > \frac{1}{8k\mu_k uv^2 z^{2\lambda}} \text{ where}$$

$$\begin{aligned} \lambda &= 1 + \frac{\log \left(\left(\sqrt{uv^2} + \sqrt{uv^2 + 1} \right)^2 k\mu_k \right)}{\log \left(\left(\sqrt{uv^2} + \sqrt{uv^2 + 1} \right)^2 / k\mu_k \right)} \\ &= 2 + \frac{2 \log(k\mu_k)}{2 \log \left(\sqrt{uv^2} + \sqrt{uv^2 + 1} \right) - \log(k\mu_k)} \end{aligned}$$

Define $\Lambda_K(D) = 2 + \frac{2 \log(K\mu_K)}{2 \log \left(\sqrt{D-1} + \sqrt{D} \right) - \log(K\mu_K)}$ and

$$\Lambda(K) = 2 + \frac{6 \log(K)}{2(K+1) \log(2) - 3 \log(K)}.$$

Then $\lambda = \Lambda_k(a^2 cx^k)$

$$|\alpha - \beta| > \frac{1}{8k\mu_k uv^2 z^{2\lambda}} \text{ where}$$

$$\begin{aligned} \lambda &= 1 + \frac{\log \left(\left(\sqrt{uv^2} + \sqrt{uv^2 + 1} \right)^2 k\mu_k \right)}{\log \left(\left(\sqrt{uv^2} + \sqrt{uv^2 + 1} \right)^2 / k\mu_k \right)} \\ &= 2 + \frac{2 \log(k\mu_k)}{2 \log \left(\sqrt{uv^2} + \sqrt{uv^2 + 1} \right) - \log(k\mu_k)} \end{aligned}$$

Define $\Lambda_K(D) = 2 + \frac{2 \log(K\mu_K)}{2 \log \left(\sqrt{D-1} + \sqrt{D} \right) - \log(K\mu_K)}$ and

$$\Lambda(K) = 2 + \frac{6 \log(K)}{2(K+1) \log(2) - 3 \log(K)}.$$

Then $\lambda = \Lambda_k(a^2 cx^k) < \Lambda(K)$

$$\alpha^k - \beta^k$$

$$\alpha^k - \beta^k = \left(\sqrt[k]{1 + \frac{1}{uv^2}} \right)^k - \left(\frac{xy}{z^2} \right)^k$$

$$\alpha^k - \beta^k = \left(\sqrt[k]{1 + \frac{1}{uv^2}} \right)^k - \left(\frac{xy}{z^2} \right)^k = \frac{uv^2(2uvw - uv^2) + 2uvw + 1}{uv^2(uvw + 1)^2}.$$

$$\alpha^k - \beta^k = \left(\sqrt[k]{1 + \frac{1}{uv^2}} \right)^k - \left(\frac{xy}{z^2} \right)^k = \frac{uv^2(2uvw - uv^2) + 2uvw + 1}{uv^2(uvw + 1)^2}.$$

Thus $\alpha > \beta > 1$.

$$\alpha^k - \beta^k = \left(\sqrt[k]{1 + \frac{1}{uv^2}} \right)^k - \left(\frac{xy}{z^2} \right)^k = \frac{uv^2(2uvw - uv^2) + 2uvw + 1}{uv^2(uvw + 1)^2}.$$

Thus $\alpha > \beta > 1$.

$$\begin{aligned} \alpha^k - \beta^k &< \frac{uv^2(2uvw + 2) + 2uvw + 1}{uv^2(uvw + 2)^2} \\ &= \frac{uv^2 + 1}{uv^2} \left(\frac{2}{uvw + 1} \right) = \frac{2\alpha^k}{uvw + 1} \end{aligned}$$

$$\alpha^k - \beta^k = \left(\sqrt[k]{1 + \frac{1}{uv^2}} \right)^k - \left(\frac{xy}{z^2} \right)^k = \frac{uv^2(2uvw - uv^2) + 2uvw + 1}{uv^2(uvw + 1)^2}.$$

Thus $\alpha > \beta > 1$.

$$\begin{aligned} \alpha^k - \beta^k &< \frac{uv^2(2uvw + 2) + 2uvw + 1}{uv^2(uvw + 2)^2} \\ &= \frac{uv^2 + 1}{uv^2} \left(\frac{2}{uvw + 1} \right) = \frac{2\alpha^k}{uvw + 1} \end{aligned}$$

$$\alpha^k - \beta^k = (\alpha - \beta) \sum_{i=0}^{k-1} \alpha^{k-1-i} \beta^i$$

$$\alpha^k - \beta^k = \left(\sqrt[k]{1 + \frac{1}{uv^2}} \right)^k - \left(\frac{xy}{z^2} \right)^k = \frac{uv^2(2uvw - uv^2) + 2uvw + 1}{uv^2(uvw + 1)^2}.$$

Thus $\alpha > \beta > 1$.

$$\begin{aligned} \alpha^k - \beta^k &< \frac{uv^2(2uvw + 2) + 2uvw + 1}{uv^2(uvw + 2)^2} \\ &= \frac{uv^2 + 1}{uv^2} \left(\frac{2}{uvw + 1} \right) = \frac{2\alpha^k}{uvw + 1} \end{aligned}$$

$$\alpha^k - \beta^k = (\alpha - \beta) \sum_{i=0}^{k-1} \alpha^{k-1-i} \beta^i > (\alpha - \beta)k$$

$$\alpha^k - \beta^k = \left(\sqrt[k]{1 + \frac{1}{uv^2}} \right)^k - \left(\frac{xy}{z^2} \right)^k = \frac{uv^2(2uvw - uv^2) + 2uvw + 1}{uv^2(uvw + 1)^2}.$$

Thus $\alpha > \beta > 1$.

$$\begin{aligned} \alpha^k - \beta^k &< \frac{uv^2(2uvw + 2) + 2uvw + 1}{uv^2(uvw + 2)^2} \\ &= \frac{uv^2 + 1}{uv^2} \left(\frac{2}{uvw + 1} \right) = \frac{2\alpha^k}{uvw + 1} \end{aligned}$$

$$\alpha^k - \beta^k = (\alpha - \beta) \sum_{i=0}^{k-1} \alpha^{k-1-i} \beta^i > (\alpha - \beta)k$$

$$\text{Hence } \frac{1}{8k\mu_k uv^2 z^{2\lambda}} < |\alpha - \beta|$$

$$\alpha^k - \beta^k = \left(\sqrt[k]{1 + \frac{1}{uv^2}} \right)^k - \left(\frac{xy}{z^2} \right)^k = \frac{uv^2(2uvw - uv^2) + 2uvw + 1}{uv^2(uvw + 1)^2}.$$

Thus $\alpha > \beta > 1$.

$$\begin{aligned} \alpha^k - \beta^k &< \frac{uv^2(2uvw + 2) + 2uvw + 1}{uv^2(uvw + 2)^2} \\ &= \frac{uv^2 + 1}{uv^2} \left(\frac{2}{uvw + 1} \right) = \frac{2\alpha^k}{uvw + 1} \end{aligned}$$

$$\alpha^k - \beta^k = (\alpha - \beta) \sum_{i=0}^{k-1} \alpha^{k-1-i} \beta^i > (\alpha - \beta)k$$

$$\text{Hence } \frac{1}{8k\mu_k uv^2 z^{2\lambda}} < |\alpha - \beta| < \frac{2\alpha^k}{kuvw}.$$

$$\frac{1}{8k\mu_k uv^2 z^{2\lambda}} < |\alpha - \beta| < \frac{2\alpha^k}{kuvw}$$

$$\frac{1}{8k\mu_k uv^2 z^{2\lambda}} < |\alpha - \beta| < \frac{2\alpha^k}{kuvw} \implies w < 2^4 \mu_k \alpha^k v z^{2\lambda}$$

$$\frac{1}{8k\mu_k uv^2 z^{2\lambda}} < |\alpha - \beta| < \frac{2\alpha^k}{kuvw} \implies w < 2^4 \mu_k \alpha^k v z^{2\lambda}$$

$$\text{with } z^k = \frac{uvw + 1}{abc}$$

$$\frac{1}{8k\mu_k uv^2 z^{2\lambda}} < |\alpha - \beta| < \frac{2\alpha^k}{kuvw} \implies w < 2^4 \mu_k \alpha^k v z^{2\lambda}$$

$$\text{with } z^k = \frac{uvw + 1}{abc} < \alpha^k uvw$$

$$\frac{1}{8k\mu_k uv^2 z^{2\lambda}} < |\alpha - \beta| < \frac{2\alpha^k}{kuvw} \implies w < 2^4 \mu_k \alpha^k v z^{2\lambda}$$

$$\text{with } z^k = \frac{uvw + 1}{abc} < \alpha^k uvw \implies w^{k-2\lambda} < 2^{4k} \mu_k \alpha^{k(k+2\lambda)} u^{2\lambda} v^{k+2\lambda}$$

$$\frac{1}{8k\mu_k uv^2 z^{2\lambda}} < |\alpha - \beta| < \frac{2\alpha^k}{kuvw} \implies w < 2^4 \mu_k \alpha^k v z^{2\lambda}$$

$$\text{with } z^k = \frac{uvw + 1}{abc} < \alpha^k uvw \implies w^{k-2\lambda} < 2^{4k} \mu_k \alpha^{k(k+2\lambda)} u^{2\lambda} v^{k+2\lambda}$$

Since $xy \geq z^2 + 1$,

$$\frac{1}{8k\mu_k uv^2 z^{2\lambda}} < |\alpha - \beta| < \frac{2\alpha^k}{kuvw} \implies w < 2^4 \mu_k \alpha^k v z^{2\lambda}$$

$$\text{with } z^k = \frac{uvw + 1}{abc} < \alpha^k uvw \implies w^{k-2\lambda} < 2^{4k} \mu_k \alpha^{k(k+2\lambda)} u^{2\lambda} v^{k+2\lambda}$$

Since $xy \geq z^2 + 1$,

$$\begin{aligned} uv^2 + uw^2 &> a^2 b^2 c^2 (z^2 + 1)^k - a^2 b^2 c^2 z^{2k} \\ &> a^2 b^2 c^2 k z^{2(k-1)} + \underbrace{a^2 b^2 c^2 \frac{k(k-1)}{2} z^{2(k-2)}}_{> abc z^k} > uvw \end{aligned}$$

$$\frac{1}{8k\mu_k uv^2 z^{2\lambda}} < |\alpha - \beta| < \frac{2\alpha^k}{kuvw} \implies w < 2^4 \mu_k \alpha^k v z^{2\lambda}$$

$$\text{with } z^k = \frac{uvw + 1}{abc} < \alpha^k uvw \implies w^{k-2\lambda} < 2^{4k} \mu_k \alpha^{k(k+2\lambda)} u^{2\lambda} v^{k+2\lambda}$$

Since $xy \geq z^2 + 1$,

$$\begin{aligned} uv^2 + uw^2 &> a^2 b^2 c^2 (z^2 + 1)^k - a^2 b^2 c^2 z^{2k} \\ &> a^2 b^2 c^2 k z^{2(k-1)} + \underbrace{a^2 b^2 c^2 \frac{k(k-1)}{2} z^{2(k-2)}}_{> abc z^k} > uvw \end{aligned}$$

$$uw^2 > a^2 b^2 c^2 z^{2(k-1)}$$

$$\frac{1}{8k\mu_k uv^2 z^{2\lambda}} < |\alpha - \beta| < \frac{2\alpha^k}{kuvw} \implies w < 2^4 \mu_k \alpha^k v z^{2\lambda}$$

$$\text{with } z^k = \frac{uvw + 1}{abc} < \alpha^k uvw \implies w^{k-2\lambda} < 2^{4k} \mu_k \alpha^{k(k+2\lambda)} u^{2\lambda} v^{k+2\lambda}$$

Since $xy \geq z^2 + 1$,

$$\begin{aligned} uv^2 + uw^2 &> a^2 b^2 c^2 (z^2 + 1)^k - a^2 b^2 c^2 z^{2k} \\ &> a^2 b^2 c^2 k z^{2(k-1)} + \underbrace{a^2 b^2 c^2 \frac{k(k-1)}{2} z^{2(k-2)}}_{> abc z^k} > uvw \end{aligned}$$

$$uw^2 > a^2 b^2 c^2 z^{2(k-1)} \implies w^2 > k^k u^{k-2} v^{2(k-1)}$$

$$\frac{1}{8k\mu_k uv^2 z^{2\lambda}} < |\alpha - \beta| < \frac{2\alpha^k}{kuvw} \implies w < 2^4 \mu_k \alpha^k v z^{2\lambda}$$

$$\text{with } z^k = \frac{uvw + 1}{abc} < \alpha^k uvw \implies w^{k-2\lambda} < 2^{4k} \mu_k \alpha^{k(k+2\lambda)} u^{2\lambda} v^{k+2\lambda}$$

Since $xy \geq z^2 + 1$,

$$\begin{aligned} uv^2 + uw^2 &> a^2 b^2 c^2 (z^2 + 1)^k - a^2 b^2 c^2 z^{2k} \\ &> a^2 b^2 c^2 k z^{2(k-1)} + \underbrace{a^2 b^2 c^2 \frac{k(k-1)}{2} z^{2(k-2)}}_{> abc z^k} > uvw \end{aligned}$$

$$uw^2 > a^2 b^2 c^2 z^{2(k-1)} \implies w^2 > k^k u^{k-2} v^{2(k-1)}$$

$$(uv^2)^{k-2\lambda-2} < 2^8 \mu_k^2 \alpha^{2(k+2\lambda)} k^{-(k-2\lambda)}$$

$$(uv^2)^{k-2\lambda-2} < 2^8 \mu_k^2 \alpha^{2(k+2\lambda)} k^{-(k-2\lambda)}$$

$$(uv^2)^{k-2\lambda-2} < 2^8 \mu_k^2 \alpha^{2(k+2\lambda)} k^{-(k-2\lambda)}$$

For $k \geq 10$,

$$(uv^2)^{k-2\lambda-2} < 2^8 \mu_k^2 \alpha^{2(k+2\lambda)} k^{-(k-2\lambda)}$$

For $k \geq 10$, $\lambda < \Lambda(10) < 3.7$,

$$(uv^2)^{k-2\lambda-2} < 2^8 \mu_k^2 \alpha^{2(k+2\lambda)} k^{-(k-2\lambda)}$$

For $k \geq 10$, $\lambda < \Lambda(10) < 3.7$, $\mu_k \leq \sqrt{k}$,

$$(uv^2)^{k-2\lambda-2} < 2^8 \mu_k^2 \alpha^{2(k+2\lambda)} k^{-(k-2\lambda)}$$

For $k \geq 10$, $\lambda < \Lambda(10) < 3.7$, $\mu_k \leq \sqrt{k}$, $uv^2 = a^2 cx^k - 1$

$$(uv^2)^{k-2\lambda-2} < 2^8 \mu_k^2 \alpha^{2(k+2\lambda)} k^{-(k-2\lambda)}$$

For $k \geq 10$, $\lambda < \Lambda(10) < 3.7$, $\mu_k \leq \sqrt{k}$, $uv^2 = a^2 cx^k - 1 \geq 2^{10} - 1$,

$$(uv^2)^{k-2\lambda-2} < 2^8 \mu_k^2 \alpha^{2(k+2\lambda)} k^{-(k-2\lambda)}$$

For $k \geq 10$, $\lambda < \Lambda(10) < 3.7$, $\mu_k \leq \sqrt{k}$, $uv^2 = a^2 cx^k - 1 \geq 2^{10} - 1$,

$$63 < (2^{10} - 1)^{10-2 \cdot 3.7-2}$$

$$(uv^2)^{k-2\lambda-2} < 2^8 \mu_k^2 \alpha^{2(k+2\lambda)} k^{-(k-2\lambda)}$$

For $k \geq 10$, $\lambda < \Lambda(10) < 3.7$, $\mu_k \leq \sqrt{k}$, $uv^2 = a^2 cx^k - 1 \geq 2^{10} - 1$,

$$63 < (2^{10} - 1)^{10-2 \cdot 3.7-2} < 8$$

$$(uv^2)^{k-2\lambda-2} < 2^8 \mu_k^2 \alpha^{2(k+2\lambda)} k^{-(k-2\lambda)}$$

For $k \geq 10$, $\lambda < \Lambda(10) < 3.7$, $\mu_k \leq \sqrt{k}$, $uv^2 = a^2 cx^k - 1 \geq 2^{10} - 1$,

$$63 < (2^{10} - 1)^{10-2 \cdot 3.7-2} < 8 \quad \Rightarrow \Leftarrow$$

$$(uv^2)^{k-2\lambda-2} < 2^8 \mu_k^2 \alpha^{2(k+2\lambda)} k^{-(k-2\lambda)}$$

For $k \geq 10$, $\lambda < \Lambda(10) < 3.7$, $\mu_k \leq \sqrt{k}$, $uv^2 = a^2 cx^k - 1 \geq 2^{10} - 1$,

$$63 < (2^{10} - 1)^{10-2 \cdot 3.7-2} < 8 \quad \Rightarrow \Leftarrow$$

For $k = 9$,

$$(uv^2)^{k-2\lambda-2} < 2^8 \mu_k^2 \alpha^{2(k+2\lambda)} k^{-(k-2\lambda)}$$

For $k \geq 10$, $\lambda < \Lambda(10) < 3.7$, $\mu_k \leq \sqrt{k}$, $uv^2 = a^2 cx^k - 1 \geq 2^{10} - 1$,

$$63 < (2^{10} - 1)^{10-2 \cdot 3.7-2} < 8 \quad \Rightarrow \Leftarrow$$

For $k = 9$, $\lambda < \Lambda_9(2^9) < 3.2$,

$$(uv^2)^{k-2\lambda-2} < 2^8 \mu_k^2 \alpha^{2(k+2\lambda)} k^{-(k-2\lambda)}$$

For $k \geq 10$, $\lambda < \Lambda(10) < 3.7$, $\mu_k \leq \sqrt{k}$, $uv^2 = a^2 cx^k - 1 \geq 2^{10} - 1$,

$$63 < (2^{10} - 1)^{10-2 \cdot 3.7-2} < 8 \quad \Rightarrow \Leftarrow$$

For $k = 9$, $\lambda < \Lambda_9(2^9) < 3.2$, then $42 < 3$

$$(uv^2)^{k-2\lambda-2} < 2^8 \mu_k^2 \alpha^{2(k+2\lambda)} k^{-(k-2\lambda)}$$

For $k \geq 10$, $\lambda < \Lambda(10) < 3.7$, $\mu_k \leq \sqrt{k}$, $uv^2 = a^2 cx^k - 1 \geq 2^{10} - 1$,

$$63 < (2^{10} - 1)^{10-2 \cdot 3.7-2} < 8 \quad \Rightarrow \Leftarrow$$

For $k = 9$, $\lambda < \Lambda_9(2^9) < 3.2$, then $42 < 3 \Rightarrow \Leftarrow$

$$(uv^2)^{k-2\lambda-2} < 2^8 \mu_k^2 \alpha^{2(k+2\lambda)} k^{-(k-2\lambda)}$$

For $k \geq 10$, $\lambda < \Lambda(10) < 3.7$, $\mu_k \leq \sqrt{k}$, $uv^2 = a^2 cx^k - 1 \geq 2^{10} - 1$,

$$63 < (2^{10} - 1)^{10-2 \cdot 3.7-2} < 8 \quad \Rightarrow \Leftarrow$$

For $k = 9$, $\lambda < \Lambda_9(2^9) < 3.2$, then $42 < 3 \Rightarrow \Leftarrow$

For $k = 7$ and 8 ,

$$(uv^2)^{k-2\lambda-2} < 2^8 \mu_k^2 \alpha^{2(k+2\lambda)} k^{-(k-2\lambda)}$$

For $k \geq 10$, $\lambda < \Lambda(10) < 3.7$, $\mu_k \leq \sqrt{k}$, $uv^2 = a^2 cx^k - 1 \geq 2^{10} - 1$,

$$63 < (2^{10} - 1)^{10-2 \cdot 3.7-2} < 8 \quad \Rightarrow \Leftarrow$$

For $k = 9$, $\lambda < \Lambda_9(2^9) < 3.2$, then $42 < 3 \Rightarrow \Leftarrow$

For $k = 7$ and 8 , similar reasoning

$$(uv^2)^{k-2\lambda-2} < 2^8 \mu_k^2 \alpha^{2(k+2\lambda)} k^{-(k-2\lambda)}$$

For $k \geq 10$, $\lambda < \Lambda(10) < 3.7$, $\mu_k \leq \sqrt{k}$, $uv^2 = a^2 cx^k - 1 \geq 2^{10} - 1$,

$$63 < (2^{10} - 1)^{10-2 \cdot 3.7-2} < 8 \quad \Rightarrow \Leftarrow$$

For $k = 9$, $\lambda < \Lambda_9(2^9) < 3.2$, then $42 < 3 \Rightarrow \Leftarrow$

For $k = 7$ and 8 , similar reasoning $\Rightarrow \Leftarrow$,

$$(uv^2)^{k-2\lambda-2} < 2^8 \mu_k^2 \alpha^{2(k+2\lambda)} k^{-(k-2\lambda)}$$

For $k \geq 10$, $\lambda < \Lambda(10) < 3.7$, $\mu_k \leq \sqrt{k}$, $uv^2 = a^2 cx^k - 1 \geq 2^{10} - 1$,

$$63 < (2^{10} - 1)^{10-2 \cdot 3.7-2} < 8 \quad \Rightarrow \Leftarrow$$

For $k = 9$, $\lambda < \Lambda_9(2^9) < 3.2$, then $42 < 3 \Rightarrow \Leftarrow$

For $k = 7$ and 8 , similar reasoning $\Rightarrow \Leftarrow$, EXCEPT for $(k, a^2 cx^k) \in \mathcal{S}$,

$$(uv^2)^{k-2\lambda-2} < 2^8 \mu_k^2 \alpha^{2(k+2\lambda)} k^{-(k-2\lambda)}$$

For $k \geq 10$, $\lambda < \Lambda(10) < 3.7$, $\mu_k \leq \sqrt{k}$, $uv^2 = a^2 cx^k - 1 \geq 2^{10} - 1$,

$$63 < (2^{10} - 1)^{10-2 \cdot 3.7-2} < 8 \quad \Rightarrow \Leftarrow$$

For $k = 9$, $\lambda < \Lambda_9(2^9) < 3.2$, then $42 < 3 \Rightarrow \Leftarrow$

For $k = 7$ and 8 , similar reasoning $\Rightarrow \Leftarrow$, EXCEPT for $(k, a^2 cx^k) \in \mathcal{S}$, a finite set.

$$(uv^2)^{k-2\lambda-2} < 2^8 \mu_k^2 \alpha^{2(k+2\lambda)} k^{-(k-2\lambda)}$$

For $k \geq 10$, $\lambda < \Lambda(10) < 3.7$, $\mu_k \leq \sqrt{k}$, $uv^2 = a^2 cx^k - 1 \geq 2^{10} - 1$,

$$63 < (2^{10} - 1)^{10-2 \cdot 3.7-2} < 8 \quad \Rightarrow \Leftarrow$$

For $k = 9$, $\lambda < \Lambda_9(2^9) < 3.2$, then $42 < 3 \Rightarrow \Leftarrow$

For $k = 7$ and 8 , similar reasoning $\Rightarrow \Leftarrow$, EXCEPT for $(k, a^2 cx^k) \in \mathcal{S}$, a finite set.

For $(k, a^2 cx^k) \in \mathcal{S}$,

$$(uv^2)^{k-2\lambda-2} < 2^8 \mu_k^2 \alpha^{2(k+2\lambda)} k^{-(k-2\lambda)}$$

For $k \geq 10$, $\lambda < \Lambda(10) < 3.7$, $\mu_k \leq \sqrt{k}$, $uv^2 = a^2 cx^k - 1 \geq 2^{10} - 1$,

$$63 < (2^{10} - 1)^{10-2 \cdot 3.7-2} < 8 \quad \Rightarrow \Leftarrow$$

For $k = 9$, $\lambda < \Lambda_9(2^9) < 3.2$, then $42 < 3 \Rightarrow \Leftarrow$

For $k = 7$ and 8 , similar reasoning $\Rightarrow \Leftarrow$, EXCEPT for $(k, a^2 cx^k) \in \mathcal{S}$, a finite set.

For $(k, a^2 cx^k) \in \mathcal{S}$, use continued fractions for $\frac{\alpha}{x} = \sqrt[k]{\frac{a^2 c}{a^2 cx^k - 1}}$

Continued Fractions

Continued Fractions

Let $\alpha \in \mathbb{R}$,

Continued Fractions

Let $\alpha \in \mathbb{R}$,

$$\alpha = [a_0, a_1, a_2, \dots]$$

Continued Fractions

Let $\alpha \in \mathbb{R}$,

$$\alpha = [a_0, a_1, a_2, \dots] = a_0 + \frac{1}{a_1 + \frac{1}{a_2 + \frac{1}{\dots}}}$$

Continued Fractions

Let $\alpha \in \mathbb{R}$,

$$\alpha = [a_0, a_1, a_2, \dots] = a_0 + \frac{1}{a_1 + \frac{1}{a_2 + \frac{1}{\dots}}}$$

A convergent of α is $\frac{p_j}{q_j} = [a_0, a_1, \dots, a_j]$ for $j \geq 0$ and $\gcd(p_j, q_j) = 1$

Continued Fractions

Let $\alpha \in \mathbb{R}$,

$$\alpha = [a_0, a_1, a_2, \dots] = a_0 + \frac{1}{a_1 + \frac{1}{a_2 + \frac{1}{\dots}}}$$

A convergent of α is $\frac{p_j}{q_j} = [a_0, a_1, \dots, a_j]$ for $j \geq 0$ and $\gcd(p_j, q_j) = 1$

Facts:

Continued Fractions

Let $\alpha \in \mathbb{R}$,

$$\alpha = [a_0, a_1, a_2, \dots] = a_0 + \frac{1}{a_1 + \frac{1}{a_2 + \frac{1}{\dots}}}$$

A convergent of α is $\frac{p_j}{q_j} = [a_0, a_1, \dots, a_j]$ for $j \geq 0$ and $\gcd(p_j, q_j) = 1$

Facts:

- $1 = q_0 \leq q_1 < q_2 < \dots$

Continued Fractions

Let $\alpha \in \mathbb{R}$,

$$\alpha = [a_0, a_1, a_2, \dots] = a_0 + \frac{1}{a_1 + \frac{1}{a_2 + \frac{1}{\dots}}}$$

A convergent of α is $\frac{p_j}{q_j} = [a_0, a_1, \dots, a_j]$ for $j \geq 0$ and $\gcd(p_j, q_j) = 1$

Facts:

- $1 = q_0 \leq q_1 < q_2 < \dots$
- $\frac{p_{2i}}{q_{2i}} < \alpha$ and $\frac{p_{2i+1}}{q_{2i+1}} > \alpha$

Continued Fractions

Let $\alpha \in \mathbb{R}$,

$$\alpha = [a_0, a_1, a_2, \dots] = a_0 + \frac{1}{a_1 + \frac{1}{a_2 + \frac{1}{\dots}}}$$

A convergent of α is $\frac{p_j}{q_j} = [a_0, a_1, \dots, a_j]$ for $j \geq 0$ and $\gcd(p_j, q_j) = 1$

Facts:

- $1 = q_0 \leq q_1 < q_2 < \dots$
- $\frac{p_{2i}}{q_{2i}} < \alpha$ and $\frac{p_{2i+1}}{q_{2i+1}} > \alpha$
- If $\frac{a}{b}$ satisfies $\left| \alpha - \frac{a}{b} \right| < \frac{1}{2b^2}$ then $\frac{a}{b} = \frac{p_j}{q_j}$ for some j

Continued Fractions

Let $\alpha \in \mathbb{R}$,

$$\alpha = [a_0, a_1, a_2, \dots] = a_0 + \frac{1}{a_1 + \frac{1}{a_2 + \frac{1}{\dots}}}$$

A convergent of α is $\frac{p_j}{q_j} = [a_0, a_1, \dots, a_j]$ for $j \geq 0$ and $\gcd(p_j, q_j) = 1$

Facts:

- $1 = q_0 \leq q_1 < q_2 < \dots$
- $\frac{p_{2i}}{q_{2i}} < \alpha$ and $\frac{p_{2i+1}}{q_{2i+1}} > \alpha$
- If $\frac{a}{b}$ satisfies $\left| \alpha - \frac{a}{b} \right| < \frac{1}{2b^2}$ then $\frac{a}{b} = \frac{p_j}{q_j}$ for some j
- $\frac{1}{q_j^2(a_{j+1} + 2)} < \left| \alpha - \frac{p_j}{q_j} \right|$

For $(k, a^2cx^k) \in \mathcal{S}$, using continued fractions for $\frac{\alpha}{x} = \sqrt[k]{\frac{a^2c}{a^2cx^k - 1}}$:

For $(k, a^2cx^k) \in \mathcal{S}$, using continued fractions for $\frac{\alpha}{x} = \sqrt[k]{\frac{a^2c}{a^2cx^k - 1}}$:

$$\underbrace{(a^2cx^k - 1)}_{uv^2}(b^2cy^k - 1) = (abcz^k - 1)^2$$

For $(k, a^2cx^k) \in \mathcal{S}$, using continued fractions for $\frac{\alpha}{x} = \sqrt[k]{\frac{a^2c}{a^2cx^k - 1}}$:

$$\underbrace{(a^2cx^k - 1)}_{uv^2}(b^2cy^k - 1) = (abcz^k - 1)^2$$

$$(uv^2)(b^2cy^k) - a^2cx^k = (abcz^k)^2 - 2abcz^k$$

For $(k, a^2cx^k) \in \mathcal{S}$, using continued fractions for $\frac{\alpha}{x} = \sqrt[k]{\frac{a^2c}{a^2cx^k - 1}}$:

$$\underbrace{(a^2cx^k - 1)}_{uv^2}(b^2cy^k - 1) = (abcz^k - 1)^2$$

$$(uv^2)(b^2cy^k) - a^2cx^k = (abcz^k)^2 - 2abcz^k$$

$$uv^2b^2cy^k > a^2b^2c^2z^k \left(z^k - \frac{2}{abc} \right)$$

For $(k, a^2cx^k) \in \mathcal{S}$, using continued fractions for $\frac{\alpha}{x} = \sqrt[k]{\frac{a^2c}{a^2cx^k - 1}}$:

$$\underbrace{(a^2cx^k - 1)}_{uv^2}(b^2cy^k - 1) = (abcz^k - 1)^2$$

$$(uv^2)(b^2cy^k) - a^2cx^k = (abcz^k)^2 - 2abcz^k$$

$$uv^2b^2cy^k > a^2b^2c^2z^k \left(z^k - \frac{2}{abc} \right)$$

$$\beta^k = \frac{x^k y^k}{z^2} > \frac{a^2cx^k}{uv^2} \left(\frac{z^k - 2}{z^k} \right)$$

For $(k, a^2cx^k) \in \mathcal{S}$, using continued fractions for $\frac{\alpha}{x} = \sqrt[k]{\frac{a^2c}{a^2cx^k - 1}}$:

$$\underbrace{(a^2cx^k - 1)}_{uv^2}(b^2cy^k - 1) = (abcz^k - 1)^2$$

$$(uv^2)(b^2cy^k) - a^2cx^k = (abcz^k)^2 - 2abcz^k$$

$$uv^2b^2cy^k > a^2b^2c^2z^k \left(z^k - \frac{2}{abc} \right)$$

$$\beta^k = \frac{x^k y^k}{z^2} > \frac{a^2cx^k}{uv^2} \left(\frac{z^k - 2}{z^k} \right) \geq \alpha^k \left(\frac{2^k - 2}{2^k} \right) = \alpha^k C^k$$

For $(k, a^2cx^k) \in \mathcal{S}$, using continued fractions for $\frac{\alpha}{x} = \sqrt[k]{\frac{a^2c}{a^2cx^k - 1}}$:

$$\underbrace{(a^2cx^k - 1)}_{uv^2}(b^2cy^k - 1) = (abcz^k - 1)^2$$

$$(uv^2)(b^2cy^k) - a^2cx^k = (abcz^k)^2 - 2abcz^k$$

$$uv^2b^2cy^k > a^2b^2c^2z^k \left(z^k - \frac{2}{abc} \right)$$

$$\beta^k = \frac{x^k y^k}{z^2} > \frac{a^2cx^k}{uv^2} \left(\frac{z^k - 2}{z^k} \right) \geq \alpha^k \left(\frac{2^k - 2}{2^k} \right) = \alpha^k C^k$$

Then $C\alpha < \beta < \alpha$.

Since $C\alpha < \beta < \alpha$,

Since $C\alpha < \beta < \alpha$,

$$(\alpha - \beta)kC^{k-1}\alpha^{k-1} < \alpha^k - \beta^k < \frac{2\alpha^k}{uvw + 1}$$

Since $C\alpha < \beta < \alpha$,

$$(\alpha - \beta)kC^{k-1}\alpha^{k-1} < \alpha^k - \beta^k < \frac{2\alpha^k}{uvw + 1}$$

$$\frac{\alpha - \beta}{x} < \frac{2\alpha C^{-k+1}}{xk(uvw)} < \frac{2\alpha C^{-k+1}}{kacz^k}$$

Since $C\alpha < \beta < \alpha$,

$$(\alpha - \beta)kC^{k-1}\alpha^{k-1} < \alpha^k - \beta^k < \frac{2\alpha^k}{uvw + 1}$$

$$\frac{\alpha - \beta}{x} < \frac{2\alpha C^{-k+1}}{xk(uvw)} < \frac{2\alpha C^{-k+1}}{kacz^k}$$

$$\left| \frac{\alpha}{x} - \frac{y}{z^2} \right| < \frac{1}{2z^4}$$

Since $C\alpha < \beta < \alpha$,

$$(\alpha - \beta)kC^{k-1}\alpha^{k-1} < \alpha^k - \beta^k < \frac{2\alpha^k}{uvw + 1}$$

$$\frac{\alpha - \beta}{x} < \frac{2\alpha C^{-k+1}}{xk(uvw)} < \frac{2\alpha C^{-k+1}}{kacz^k}$$

$$\left| \frac{\alpha}{x} - \frac{y}{z^2} \right| < \frac{1}{2z^4} \implies \frac{y}{z^2} = \frac{p_J}{q_J} \text{ for some } J \geq 0$$

Since $C\alpha < \beta < \alpha$,

$$(\alpha - \beta)kC^{k-1}\alpha^{k-1} < \alpha^k - \beta^k < \frac{2\alpha^k}{uvw + 1}$$

$$\frac{\alpha - \beta}{x} < \frac{2\alpha C^{-k+1}}{xk(uvw)} < \frac{2\alpha C^{-k+1}}{kacz^k}$$

$$\left| \frac{\alpha}{x} - \frac{y}{z^2} \right| < \frac{1}{2z^4} \implies \frac{y}{z^2} = \frac{p_J}{q_J} \text{ for some } J \geq 0$$

Facts:

Since $C\alpha < \beta < \alpha$,

$$(\alpha - \beta)kC^{k-1}\alpha^{k-1} < \alpha^k - \beta^k < \frac{2\alpha^k}{uvw + 1}$$

$$\frac{\alpha - \beta}{x} < \frac{2\alpha C^{-k+1}}{xk(uvw)} < \frac{2\alpha C^{-k+1}}{kacz^k}$$

$$\left| \frac{\alpha}{x} - \frac{y}{z^2} \right| < \frac{1}{2z^4} \implies \frac{y}{z^2} = \frac{p_J}{q_J} \text{ for some } J \geq 0$$

Facts:

- $\frac{\alpha}{x} > \frac{\beta}{x}$

Since $C\alpha < \beta < \alpha$,

$$(\alpha - \beta)kC^{k-1}\alpha^{k-1} < \alpha^k - \beta^k < \frac{2\alpha^k}{uvw + 1}$$

$$\frac{\alpha - \beta}{x} < \frac{2\alpha C^{-k+1}}{xk(uvw)} < \frac{2\alpha C^{-k+1}}{kacz^k}$$

$$\left| \frac{\alpha}{x} - \frac{y}{z^2} \right| < \frac{1}{2z^4} \implies \frac{y}{z^2} = \frac{p_J}{q_J} \text{ for some } J \geq 0$$

Facts:

- $\frac{\alpha}{x} > \frac{\beta}{x} \implies J \text{ is even}$

Since $C\alpha < \beta < \alpha$,

$$(\alpha - \beta)kC^{k-1}\alpha^{k-1} < \alpha^k - \beta^k < \frac{2\alpha^k}{uvw + 1}$$

$$\frac{\alpha - \beta}{x} < \frac{2\alpha C^{-k+1}}{xk(uvw)} < \frac{2\alpha C^{-k+1}}{kacz^k}$$

$$\left| \frac{\alpha}{x} - \frac{y}{z^2} \right| < \frac{1}{2z^4} \implies \frac{y}{z^2} = \frac{p_J}{q_J} \text{ for some } J \geq 0$$

Facts:

- $\frac{\alpha}{x} > \frac{\beta}{x} \implies J \text{ is even}$
- $\frac{\alpha}{x} < 1$

Since $C\alpha < \beta < \alpha$,

$$(\alpha - \beta)kC^{k-1}\alpha^{k-1} < \alpha^k - \beta^k < \frac{2\alpha^k}{uvw + 1}$$

$$\frac{\alpha - \beta}{x} < \frac{2\alpha C^{-k+1}}{xk(uvw)} < \frac{2\alpha C^{-k+1}}{kacz^k}$$

$$\left| \frac{\alpha}{x} - \frac{y}{z^2} \right| < \frac{1}{2z^4} \implies \frac{y}{z^2} = \frac{p_J}{q_J} \text{ for some } J \geq 0$$

Facts:

- $\frac{\alpha}{x} > \frac{\beta}{x} \implies J \text{ is even}$
- $\frac{\alpha}{x} < 1 \implies \frac{p_0}{q_0} = 0$

Since $C\alpha < \beta < \alpha$,

$$(\alpha - \beta)kC^{k-1}\alpha^{k-1} < \alpha^k - \beta^k < \frac{2\alpha^k}{uvw + 1}$$

$$\frac{\alpha - \beta}{x} < \frac{2\alpha C^{-k+1}}{xk(uvw)} < \frac{2\alpha C^{-k+1}}{kacz^k}$$

$$\left| \frac{\alpha}{x} - \frac{y}{z^2} \right| < \frac{1}{2z^4} \implies \frac{y}{z^2} = \frac{p_J}{q_J} \text{ for some } J \geq 0$$

Facts:

- $\frac{\alpha}{x} > \frac{\beta}{x} \implies J \text{ is even}$
- $\frac{\alpha}{x} < 1 \implies \frac{p_0}{q_0} = 0 < \frac{y}{z^2} = \frac{p_J}{q_J}$

Since $C\alpha < \beta < \alpha$,

$$(\alpha - \beta)kC^{k-1}\alpha^{k-1} < \alpha^k - \beta^k < \frac{2\alpha^k}{uvw + 1}$$

$$\frac{\alpha - \beta}{x} < \frac{2\alpha C^{-k+1}}{xk(uvw)} < \frac{2\alpha C^{-k+1}}{kacz^k}$$

$$\left| \frac{\alpha}{x} - \frac{y}{z^2} \right| < \frac{1}{2z^4} \implies \frac{y}{z^2} = \frac{p_J}{q_J} \text{ for some } J \geq 0$$

Facts:

- $\frac{\alpha}{x} > \frac{\beta}{x} \implies J \text{ is even}$
- $\frac{\alpha}{x} < 1 \implies \frac{p_0}{q_0} = 0 < \frac{y}{z^2} = \frac{p_J}{q_J} \implies J \neq 0$

$$\frac{1}{8k\mu\nu^2z^{2\lambda}} < \left| \frac{\alpha}{x} - \frac{\beta}{x} \right| < \frac{2\alpha C^{-k+1}}{xkacz^k}$$

$$\frac{1}{8k\mu\nu^2 z^{2\lambda}} < \left| \frac{\alpha}{x} - \frac{\beta}{x} \right| < \frac{2\alpha C^{-k+1}}{xkacz^k}$$

$$q_J \leq z^2 \leq \text{Bound}$$

$$\frac{1}{8k\mu\nu^2z^{2\lambda}} < \left| \frac{\alpha}{x} - \frac{\beta}{x} \right| < \frac{2\alpha C^{-k+1}}{xkacz^k}$$

$$q_J \leq z^2 \leq \text{Bound}$$

For each $(k, a^2cx^k) \in \mathcal{S}$, determine possible values of J

$$\frac{1}{8k\mu\nu^2z^{2\lambda}} < \left| \frac{\alpha}{x} - \frac{\beta}{x} \right| < \frac{2\alpha C^{-k+1}}{xkacz^k}$$

$$q_J \leq z^2 \leq \text{Bound}$$

For each $(k, a^2cx^k) \in \mathcal{S}$, determine possible values of J

$$\frac{1}{z^4(a_{J+1} + 2)} < \left| \frac{\alpha}{x} - \frac{y}{z^2} \right| < \frac{2\alpha C^{-k+1}}{xkacz^k}$$

$$\frac{1}{8k\mu\nu^2z^{2\lambda}} < \left| \frac{\alpha}{x} - \frac{\beta}{x} \right| < \frac{2\alpha C^{-k+1}}{xkacz^k}$$

$$q_J \leq z^2 \leq \text{Bound}$$

For each $(k, a^2cx^k) \in \mathcal{S}$, determine possible values of J

$$\frac{1}{z^4(a_{J+1} + 2)} < \left| \frac{\alpha}{x} - \frac{y}{z^2} \right| < \frac{2\alpha C^{-k+1}}{xkacz^k}$$

$$a_{J+1} \geq \frac{xkacz^{k-4}C^{k-1}}{2\alpha} - 2 \geq \text{bound}$$

$$\frac{1}{8k\mu\nu^2z^{2\lambda}} < \left| \frac{\alpha}{x} - \frac{\beta}{x} \right| < \frac{2\alpha C^{-k+1}}{xkacz^k}$$

$$q_J \leq z^2 \leq \text{Bound}$$

For each $(k, a^2cx^k) \in \mathcal{S}$, determine possible values of J

$$\frac{1}{z^4(a_{J+1} + 2)} < \left| \frac{\alpha}{x} - \frac{y}{z^2} \right| < \frac{2\alpha C^{-k+1}}{xkacz^k}$$

$$a_{J+1} \geq \frac{xkacz^{k-4}C^{k-1}}{2\alpha} - 2 \geq \text{bound}$$

For each $(k, a^2cx^k) \in \mathcal{S}$,

$$\frac{1}{8k\mu\nu^2z^{2\lambda}} < \left| \frac{\alpha}{x} - \frac{\beta}{x} \right| < \frac{2\alpha C^{-k+1}}{xkacz^k}$$

$$q_J \leq z^2 \leq \text{Bound}$$

For each $(k, a^2cx^k) \in \mathcal{S}$, determine possible values of J

$$\frac{1}{z^4(a_{J+1} + 2)} < \left| \frac{\alpha}{x} - \frac{y}{z^2} \right| < \frac{2\alpha C^{-k+1}}{xkacz^k}$$

$$a_{J+1} \geq \frac{xkacz^{k-4}C^{k-1}}{2\alpha} - 2 \geq \text{bound}$$

For each $(k, a^2cx^k) \in \mathcal{S}$, for all J ,

$$\frac{1}{8k\mu\nu^2z^{2\lambda}} < \left| \frac{\alpha}{x} - \frac{\beta}{x} \right| < \frac{2\alpha C^{-k+1}}{xkacz^k}$$

$$q_J \leq z^2 \leq \text{Bound}$$

For each $(k, a^2cx^k) \in \mathcal{S}$, determine possible values of J

$$\frac{1}{z^4(a_{J+1} + 2)} < \left| \frac{\alpha}{x} - \frac{y}{z^2} \right| < \frac{2\alpha C^{-k+1}}{xkacz^k}$$

$$a_{J+1} \geq \frac{xkacz^{k-4}C^{k-1}}{2\alpha} - 2 \geq \text{bound}$$

For each $(k, a^2cx^k) \in \mathcal{S}$, for all J , $a_{J+1} < \text{bound}$.

$$\frac{1}{8k\mu\nu^2z^{2\lambda}} < \left| \frac{\alpha}{x} - \frac{\beta}{x} \right| < \frac{2\alpha C^{-k+1}}{xkacz^k}$$

$$q_J \leq z^2 \leq \text{Bound}$$

For each $(k, a^2cx^k) \in \mathcal{S}$, determine possible values of J

$$\frac{1}{z^4(a_{J+1} + 2)} < \left| \frac{\alpha}{x} - \frac{y}{z^2} \right| < \frac{2\alpha C^{-k+1}}{xkacz^k}$$

$$a_{J+1} \geq \frac{xkacz^{k-4}C^{k-1}}{2\alpha} - 2 \geq \text{bound}$$

For each $(k, a^2cx^k) \in \mathcal{S}$, for all J , $a_{J+1} < \text{bound}$. $\Rightarrow \Leftarrow$

Theorem (G-)

Let $a, b, c, k \in \mathbb{Z}^+$ with $k \geq 7$. The equation

$$(a^2cx^k - 1)(b^2cy^k - 1) = (abcz^k - 1)^2$$

has no solution in integers with $x, y, z > 1$ and $a^2x^k \neq b^2y^k$.